202244 H 256 1 f2EH

= TR B I

1. AXEOFE

B | E I, N (/1N

o Rat
4 H~5J 570 ERRE SR T 76— v MR LK) R TR
4/28~5/5 Y=y I AT =)L KT 7 B —a— R RE 2022
6/2 - 6/3 + 6/4 5 70 MIEHESFE T S e —T7 v PR—L KRR
6/18 - 6/19 % 9 ARG T AHT 7 E—7 v MR— kS IRT%
7/15~17/18 %9 FAEBEFE T AT S E—7 v FR—A KA
9/3 JeAR Hh X R
10 H~11 A 5102 FISEESERET 76— v b R— L KRR T8
12/27~2023.1/7 102 FEEE%EEKT /v —7 v hAR— LKA
1A % 23 EIBHE SR T 7 £ —7 v MRV REHAKRSIE) | TR
2/11 « 2/12 - 2/18 - 2/19 % 23 FB B SFRT 7 E—7 v hR— L REFAKRS
3/24~3/31 % 24 BIEERIE ST /=7 v hR—L KA

2. BIEEDOTE

o

Y A

8/7~8/10, 8/10~8/16

RHR EMME PR U=

3. ENEEN ATV H

(R H)

| EAEROKRE
TEREC 0 v
#H1BURAIE LCTAHRER) 47 H
EWEE 1AM OEMEZ BTGB AXEEATIER <) 24 H 4 H
S HRIER 7H 2 H
AR 5 H 1H
a F 84 H 7H




